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Question Number : 1 Question Id : 2752283210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TRC, VUH, XXM, ?, BDW
Options :
1. ® ZRA
2. ¥ ZAR
3. ¥ YAR
4. % YRA

Question Number : 1 Question Id : 2752283210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, o § U Ue g 8| fau U fased & O o 9e! fawed gHg, S 319 H & 1 &R |

TRC, VUH, XXM, ?, BDW
Options :
1. ¥ ZRA
2. ¥ ZAR
3. % YAR
4. % YRA

Question Number : 2 Question Id : 2752283211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

VXL, AEV, FLD, KSM, PZV
Options :
1. ¥ PZV
2. % FLD
3. * KSM
4. ¥ AEV

Question Number : 2 Question Id : 2752283211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fea T 8, ford § U ug ad ¢ | 3T T fawed! & 9 39 e ug &I gfu|

VXL, AEV, FLD, KSM, PZV
Options :
1. * PZV
2. % FLD
3. * KSM



4. ¥ AEV

Question Number : 3 Question Id : 2752283212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ®* TC-GX
2. % AZ-7ZA
3. % LO-0OL
4.+ PC-KY

Question Number : 3 Question Id : 2752283212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I U do/ /ey & SMUR IR 99 g | 738 T fawed # ¥ faww &1 gf-u|

Options :

1. % TC - GX

2. % AZ-7A

3. % LO-OL

4. ¥ PC-KY

Question Number : 4 Question Id : 2752283213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Stationery : Pencil :: Vehicle : ?
Options :
1. * Tyre
2. % Seat



3. # Road
4. % Scooter

Question Number : 4 Question Id : 2752283213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # <R
2. % TaY
3. ® dg&
4, ¥ IpHR

Question Number : 5 Question Id : 2752283214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

PRKC : JRYW :: ?
Options :

1. ¥ ANLB :ISVH
2. % TVC]:QIJCZ
3. % RBAL : SHIA
4. ¥ CMNX : EUTJ

Question Number : 5 Question Id : 2752283214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad we o fou e fawedt & § Iefia sfer g™ &1 9wl



PRKC : JRYW :: ?
Options :

1. ¥ ANLB :ISVH
2. % TVCJ:QICzZ
3. ¥ RBAL : SHIA
4. % CMNX : EUTJ

Question Number : 6 Question Id : 2752283215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘SEVEN” is written as ‘SJAJX’. What is the code for ‘PIZZA’ in that code language?
Options :

1. # FENEU

2. % FUENE

3. ¥ FEENU

4. % FEEUN

Question Number : 6 Question Id : 2752283215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfR HIS U H, ‘SEVEN® Bl STATX’ foraT Sl § | 39 I8 U & PIZZA’ BT IS T 52
Options :

1. ¥ FENEU

2. ¥ FUENE

3. ¥ FEENU

4. ® FEEUN

Question Number : 7 Question Id : 2752283216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of wickets taken by six bowlers J, K, L, M, N and P are compared. Number of wickets taken by K are more than only the number of
wickets taken by J. Number of wickets taken by N are less than only two bowlers. Number of wickets taken by M are not more than N. Who



among the following has taken more wickets than N?
Options :

l.* M

2. % K

3.%]

4. ¢ P

Question Number : 7 Question Id : 2752283216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 Tqamll J, K, L, M, N 94T P gRT ot 741 fadhel 1 Tea &t ga-1 &1 T g1 K gRT ot T4t fadhel o1 Tea dhad J g1 o 7t fadel &t
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Options :

1. %M

2. % K

3. %]

4. &P

Question Number : 8 Question Id : 2752283217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From amongst seven girls P, Q, R, S, T, U and V four girls have to be selected. V and Q should be selected together. Both R and P should be
selected with T. U and S should not be selected together. S and R should be selected together. Who among the following may be selected?

Options :

I.* P,Q,Rand S
2.% Q,R,Sand T
3.% PR, Sand U
4. ¥ R,S, Tand P

Question Number : 8 Question Id : 2752283217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IId ASfBAT P, Q, R, S, T, U ATV H J IR ASfBal Bl AT TAI g | V YT Q DI 1Y H AT AT AT R TUT P &1 b1 T &b 1Y AT ST
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Options :

1. % P,Q,RAYUTS

2. % QR,STUTT

3. % PR,STYUTU

4. ¥ R,S, TAYTP

Question Number : 9 Question Id : 2752283218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons P, Q, R, S and T are wearing one shirt from S1, S2, S3, S4 and S5 coloured t-shirt (not necessarily in the same order). Each of them
are driving one car from D1, D2, D3, D4 and DS5. No two person are wearing same coloured t-shirt and are not driving same car. R is wearing S4
coloured t-shirt. T is driving D1. D2 and D3 are not being driven by both P and S. The person wearing S2 coloured t-shirt is driving D5. Q and R
are not driving D5 and D4 respectively. The persons wearing S1 and S3 coloured t-shirt are not driving D2 and D3 respectively. S is wearing S5
coloured t-shirt. D2 is not being driven by Q. Which of the following statement is correct?

Options :

1. # P and Q are wearing S2 and S3 coloured shirt respectively
2. % Qand S are driving D3 and D4 respectively

3. % T is wearing S1 coloured t-shirt and R is driving D5

4. % S is driving D4 and T is wearing S1 coloured t-shirt

Question Number : 9 Question Id : 2752283218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui Afdd P, Q, R, S AYUTT, S1, S2, S3, S4 TUT S5 W &1 F-IE H I Th UG 3B § (T3] Tg! &1 391 HH H 8l | 378 ¥ YA D1, D2, D3,
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Options :

1. % pIUT Q= HH: S2 TUT S3 T P! 12 Ug g5 °




2. ¥ QTqUTS B D3 TUT D4 TA R &
3. % TSI WP ¢1-]1C UG §8 & AUTR, D5 IAT @I 8|
4.% S, DATAIGIG AN TASI T A U gs

Question Number : 10 Question Id : 2752283219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some bottle are cup.
I1. No plate is bottle.

Conclusions:
I. No plate is cup.
I1. No bottle is plate.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 2752283219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had (sHY [ 3T BT §

2. ¥ Had [SHY 11 SR Hdl &

3. % G (FIShY [ T 11 SFJaR0T 6’ &
4. % DIz W} FIopY SR 8 R §

Question Number : 11 Question Id : 2752283220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All pomegranate are white.
II. No grapes is pomegranate.

Conclusions:

I. Some white are pomegranate.
II. All white are grapes.

III. No pomegranate is grapes.

Options :

1. % Both conclusions I and II follows
2. % Only conclusion III follows

3. % Both conclusions I and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 2752283220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T FHy=1 &I 98! AM, 1g 34 AE= 1 a2t
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HY:
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Options :

1. % Q! 5By 1 a7 1T SRR HRd &
2. % Had Y [11 SFTERUT Fal &

3. ¢ G ISR Y [ QT 11T S8R0 B §
4. % 1} FISh Y SIRUT R &

Question Number : 12 Question Id : 2752283221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

6, 19, 58, 7, 526
Options :
1. % 173
2. % 163
3.9 175
4. % 165

Question Number : 12 Question Id : 2752283221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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6,19, 58, 7,526



Options :
1. % 173
2. % 163
3.9 175
4, % 165

Question Number : 13 Question Id : 2752283222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

3 7 5
6 4 0
3 5 6
64 | 40 | ?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.96
2.99
3.102
4.93

Question Number : 13 Question Id : 2752283222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3 7 5
6 4 9
3 3 6
64 | 40 | ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.96

2.99

3.102

4.93

Question Number : 14 Question Id : 2752283223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many even are not letters?

Even

'23)\6\

s W

Numbers 2 Letters

Options :
1. % 10
2.% 6
3.% 12
4. 14



Question Number : 14 Question Id : 2752283223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 10
2. % 6
3. % 12
4. % 14

Question Number : 15 Question Id : 2752283224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are NOT correct?

Triangle _
Circle




I. Numbers of sides which are triangles are 11.
II. Number of circles which are only sides are 2.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 15 Question Id : 2752283224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T 3 3@ & SMYR R, Fufered § 3 &9 91/ $y= 98! T8l /82

I. 98 Y4 o YT &, Bt AT 11 B |
I1. 98 99 Sl dhad Yol §, BT T& 2 B
Options :

1. % $had |

2. ¥ Had I

3. % [QUTII gl

4. % qGIIATE I

Question Number : 16 Question Id : 2752283225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Suman is facing in north direction. She turns right and walks x km. She turns left and walks 3x km. she finally turns right and walks (x/2) km. In
which direction is her starting point from the finishing point?

Options :

1. * North-east
2. * South

3. % South-west
4. % West

Question Number : 16 Question Id : 2752283225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR fC= &1 3R TG HX gU 5| 98 T 3R T&cit & T x fob. Y. Tl 81 98 S 3R GScit & T 3x fob. Y. el § | 98 Sida: arit
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Options :

1. % IW-Yd

2. % g

3. ¢ Glamu-ufgy

4. % i3y

Question Number : 17 Question Id : 2752283226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At 11 AM, A and B are facing towards each other. B found that his shadow is towards the right of A. In which direction is A facing?
Options :

1. ¥ South

2. % North

3. * East

4. * West

Question Number : 17 Question Id : 2752283226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

11 JaTg IR, A TUTB U G P AR GW G & | B T UIAI & [ SUD! RBTS A & it AR g1 A fhd Gt sk @ @172

Options :
1. ¢ cfgor
2. % 3
3. % Ud

4. % i3y

Question Number : 18 Question Id : 2752283227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

[ 1 ] ane [ T 1 1] e
oo o0 eoe eene :::::
- en seeee
Options :
ae
1. %
L1 1]
L1 1]
*
2. %
[ 1]
L 2 111 ]
L I 11 1]
3 \.,.-/ (21111
L 111}
L 111 ]
see
4. %




Question Number : 18 Question Id : 2752283227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy 9, < Tt e & I 7Ted i o gl

[ 1 ] ane [ T 1 1] e
oo o0 eoe eene :::::
- en seeee
Options :
ae
1. %
L1 1]
L1 1]
*
2. %
[ 1]
L 2 111 ]
L I 11 1]
3 v/ (21111
L 111}
L 111 ]
see
4. %

Question Number : 19 Question Id : 2752283228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?



Options :
1. % 14
2. % 16
3.9 15
4. % 17

Question Number : 19 Question Id : 2752283228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1S it H feba Fiysi 82

Options :
1. % 14
2. % 16
3.9 15



4. % 17

Question Number : 20 Question Id : 2752283229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
1. % 8
2.%9
3.% 10
4, % 11

Question Number : 20 Question Id : 2752283229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<171 3epfal H fobei Tyl 87

Options :



1. # 8

2.¥9
3. % 10
4. = 11
General Awareness
Group Number : 2
Group Id : 27522890
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 275228180
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228214
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752283230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Damru is a type of vadya.
Options :

1. ¥ Avnaddha

2. % Ghana

3. # Tata

4. % Sushira

Question Number : 21 Question Id : 2752283230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S UG UHRG]  dEdl
Options :

1. ¥ 3{ddx

2. % Ydq

3. % dq

4. % gAY

Question Number : 22 Question Id : 2752283231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Rajasthan?

I. Jaigarh fort
II. Kumbhalgarh fort

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II



Question Number : 22 Question Id : 2752283231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ TR IoI= | fRUd 8/87

1. SIaiTe fobea

1. HeTeH fobet
Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl
4. % 1B 1

Question Number : 23 Question Id : 2752283232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the instruments of monetary policy?

I. Cash Reserve Ratio
II. Repo Rate

Options :

1. * Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 23 Question Id : 2752283232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 24 Question Id : 2752283233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the borrowing and the lending rate in commercial banks is called
Options :

1. # float

2. ¥ gspread

3. # profit

4. % credit

Question Number : 24 Question Id : 2752283233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS §H A FUR A SIRSUR AP R P A H R B! HEI Sl g
Options :

1. % Rl

2. ¢ Taa

3. % oY

4, % B

Question Number : 25 Question Id : 2752283234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which acid is found in Amla?
Options :



1. * Tartaric
2. % Ascorbic
3. # Lactic

4. % Formic

Question Number : 25 Question Id : 2752283234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffaet B B T 31t yTa el 82
Options :

1. % TER®

2. ¥ TDIaD

3. % dfded

4. % BIHD

Question Number : 26 Question Id : 2752283235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

1. Mass remains same on earth and moon.
II. mass = weight x g

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 26 Question Id : 2752283235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ &9 91 Hy= I8l 82



. ZMH gedt 9T I5HT IR JHH a1 8|
I gIHT =HR x g

Options :

1. ¥ $had |

2. % Had I

3. % [ qUTI M

4. % qGIIATRIII

Question Number : 27 Question Id : 2752283236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cholera is caused by .

Options :

1. # fungus

2. ¥ bacteria

3. % virus

4. # protozoa

Question Number : 27 Question Id : 2752283236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gl SR &

Options :

1. # ddd

2.  Sidy]

3. % dRIRY

4. % TIeIonaM

Question Number : 28 Question Id : 2752283237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct regarding earthquake?

I. S waves are longitudinal.
II. L waves are transverse.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 28 Question Id : 2752283237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YU o da # Fafafed o 9 o 91 98 82

[ T X e B
I1. T a3 S B
Options :

1. % $Had 1

2. % Had Il

3. % [ UGl

4. B IATBII

Question Number : 29 Question Id : 2752283238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following countries are drained by Amazon basin?

I. Peru
I1. Bolivia
II1. Ecuador

Options :
1. % Tand II



2. % ITand III
3. % Tand III
4. 1,11 and 111

Question Number : 29 Question Id : 2752283238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A oG FEfRed & A D19 A S BT SYaIRd Bl g2

LU=
1. Srcrfaar

1. SHISR
Options :

1. % 1dYTII

2. % 11 dYUTIII
3. % 1dYTII
4. 1 11 dYT I

Question Number : 30 Question Id : 2752283239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct about Aravali Hills?

I. They are highly eroded and broken hills.
II. They extend from Odisha to Delhi.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 30 Question Id : 2752283239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3RTGCH UgIfedl & g # Ffeied o 9 & 91 Sy 9g! 82

1. I8 §gd 3% fRIfed ud Wisd usTfsar g
1. I8 S ¥ feeh ao et B

Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % AT I

Question Number : 31 Question Id : 2752283240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which country the techniques of making silk was invented?
Options :

1. # Bangladesh

2. % India

3. # Pakistan

4. ¥ China

Question Number : 31 Question Id : 2752283240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y §9 B db-ic BT SMISHR g =1 gRT g3 U
Options :

1. % gRAGH

2. % HRd

3. ® Uifhed™

4. 9




Question Number : 32 Question Id : 2752283241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year Irwin Pact was introduced?
Options :
1. ® 1930
2. % 1922
3. % 1928
4,9 1931

Question Number : 32 Question Id : 2752283241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg ol & 3Rfae U O o 77T A
Options :
1. # 1930
2. % 1922
3. % 1928
4. ¥ 1931

Question Number : 33 Question Id : 2752283242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Babur defeated the Rajputs at Chanderi?
Options :

1. ® 1526

2. % 1527

3.9 1528

4. = 1529

Question Number : 33 Question Id : 2752283242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
for av H STaR 7 ISl BT e H g1 U1
Options :

1. ® 1526

2. % 1527

3.9 1528

4. % 1529

Question Number : 34 Question Id : 2752283243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rank of India in Chandler Good Government Index released in April 2021?
Options :

1. ¥ 49

2. % 56

3. % 41

4. % 32

Question Number : 34 Question Id : 2752283243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2021 H SR} ol T TSR T[S TGHC To | HRA BT T RIH g2
Options :

1. ¥ 49

2. % 56

3. % 41

4. % 32

Question Number : 35 Question Id : 2752283244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
World’s most powerful weather, climate-change forecasting super computer is to be built in



Options :
1. # USA
2. ¥ UK
3. % France
4. ¥ Spain

Question Number : 35 Question Id : 2752283244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa%y 7 T WfaT=ITet! A, STaarg URkdad &t U@l 3 aTal QR $gex o S S|
Options :

L * YA

2. ¥ gb.

3. % 1Y

4. % W

Question Number : 36 Question Id : 2752283245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been awarded with Padam Vibhushan 2021 for public affairs?
Options :

1. ¥ Shinzo Abe

2. * Tarun Gogoi

3. % Ram Vilas Paswan

4. # Keshubhai Patel

Question Number : 36 Question Id : 2752283245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b P & o 2021 &1 TaT faagmoT fopsy feam mam g2

Options :



1. « RS 39
2. % TBUTNMS
3. % ¥ {9y urgaH

4. % BT Ued

Question Number : 37 Question Id : 2752283246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with tenure of office of persons serving the union or a state?
Options :

1. ¥ 310

2. % 323

3. % 288

4. % 146

Question Number : 37 Question Id : 2752283246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T &1 DI I e 9 I7 58 B JdT S dT1d AfGadl &1 ugrard I Jeferd g2
Options :

1. ¥ 310

2. % 323

3. % 288

4. % 146

Question Number : 38 Question Id : 2752283247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article 323 A of Indian Constitution is related to
Options :

1. # proclamation of emergency



2. # guits and proceedings
3. % administrative tribunals

4. # official language of the union

Question Number : 38 Question Id : 2752283247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAT SfauH 1 3g@e 3234 Y TeRE gl
Options :

1. % 3T D IO

2. % 9Ig 3R HRiaTeal

3. ¢ YRR 3iferenur

4. % Y B ASTHTST

Question Number : 39 Question Id : 2752283248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was man of the series in Border — Gavaskar trophy 20217
Options :

1. % Ravindra Jadeja

2. ¥ Pat Cummins

3. % Rohit Sharma

4. ¥ Mathew Wade

Question Number : 39 Question Id : 2752283248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiaY — TARSR ST 2021 H T 31 g RIS I U1?
Options :

1. % g SSol

2. ¢ U Hitg




3. % Jfgd THAf
4. % Y dS

Question Number : 40 Question Id : 2752283249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

I. Tan Bishop — Cricket
II. Steffi Graf — Table Tennis

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 40 Question Id : 2752283249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RSt - B & Pafiad 3 @ B a1 g e

1. 39 fo=Y - fohbe
1. B! TTF — cdd ey

Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Arithmetic Ability
Group Number : 3



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 2752283250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 1,‘9+ J256°7

Options :
1. * 3
2.¥5
3.% 6
4. %17

27522891
0

0

No

No

0

20

No

Arithmetic Ability

275228181
1

Online
Mandatory
20

20

20

Yes

1
275228215
Yes



Question Number : 41 Question Id : 2752283250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9+.f256 FIATFATE?
Options :
1. %3
2.¥5
3.% 6
4, % 7

Question Number : 42 Question Id : 2752283251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whatistheualueof51—4l+]23—91?
3 g M
Options :
RE
1 % 28
il
L« 28
13
;% 28
11



Question Number : 42 Question Id : 2752283251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
stgliigl gl FAATTAG?
2 7 7 +
Options :
513
1 ® 28

Question Number : 43 Question Id : 2752283252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Highest Common Factor of 225, 0.30 and 15?
Options :

1. ® 0.15

2.9 0.3

3.%3

4. % 15

Question Number : 43 Question Id : 2752283252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
225, 0.30 TT 15 HT HeTH JHITAD T 52
Options :

1. # 0.15

2.903

3.% 3

4. % 15

Question Number : 44 Question Id : 2752283253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the product of A and B, if 2A45B79 is divisible by 11 and the sum of A + B is equal to 9?
Options :

1.#9

2.% 6

3. % 24

4.9 18

Question Number : 44 Question Id : 2752283253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUT B &1 OFHA R1 8, TG 2445879, 11 T fAUTST € TUT A + B HTIANT 9 P SRR 87
Options :

1. %9

2.% 6

3.% 24

4.9 18

Question Number : 45 Question Id : 2752283254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following option is correct?



Options :
15
19

4 35
e
7 9

1. %

13

45
— = — S
,x 7 8 21

17 16 14

1o 28 21 17

3 12 10
LS 1311

Question Number : 45 Question Id : 2752283254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 9 oF 1 fdweu ag 82

Options :
15 & 5
| ® 19 7 9

13

4 5
— — R
,x 7 8 21

17 16 14

1o 28 21 17



12 .10

3
¥ 15 11

4, %

Question Number : 46 Question Id : 2752283255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of an article is Rs. 4224. If 12 percent discount is given, then what is the marked price?
Options :

1. * 4600

2.9 4800

3. % 4200

4. % 4400

Question Number : 46 Question Id : 2752283255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a5 $1 fahd Ged 4224 FUA B 1 A 12 Tia=Td &1 Fe & o1t &, ot sifhd gea R g2
Options :

1. * 4600

2. ¥ 4800

3. # 4200

4. % 4400

Question Number : 47 Question Id : 2752283256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P is 4 times of Q. Q is how much percent less than P?
Options :

1. ¥ 75

2. % 80



3. % 60
4. % 85

Question Number : 47 Question Id : 2752283256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q P14 TATRI Q, P ¥ fham ufdwrd w82
Options :

1. ¥ 75

2. % 80

3. % 60

4, % 85

Question Number : 48 Question Id : 2752283257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 20 litres mixture of alcohol and water contains 20 percent alcohol. 12 litres water is added in the mixture. What is the new strength of alcohol
in the mixture?

Options :

1. # 10 percent
2. % 20 percent
3. % 15 percent
4. ¥ 12.5 percent

Question Number : 48 Question Id : 2752283257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TchIgd adT S & b 20 oflex & Y0 § 20 UfA=Id Tebigd g | 01§ 12 ofier S framan Sidn g1 feor & Teblgd i s A1 T 82
Options :

1. % 10 gfawrd

2. % 20 gfawrd

3. % 15 gfaerd



4.+ 12.5 Ufawrd

Question Number : 49 Question Id : 2752283258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of cost price of first, second and third article is 5 : 8 : 7 respectively. A profit of 10 percent and 30 percent is earned on first and second
article respectively and a loss of 40 percent is incurred on the third article. What is the overall profit/loss percentage on the three articles
together?

Options :

1. ¥ 0.5 percent profit

2. % 1.11 percent profit
3. % 2.22 percent loss

4. % 3.33 percent loss

Question Number : 49 Question Id : 2752283258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgal, GOR a7 RIS} g o g Hed BT SJUTd HHTT: 5 : 8 : 78| Ul 9UT QORI I UR HHMT 74T AT SHHT: 10 UTA=Td auT 30 Uiz @
YT TR TG TR 40 UFA=Id BT g1 85 | 1 aegsit R fHares: o /et wfa=rd 31 g2

Options :

1. ¥ 0.5 Ufa=Id Ay
2. % 111 gfa=rd @
3. % 222 gfawrd g1+
4. % 333 Ufaerd g1

Question Number : 50 Question Id : 2752283259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If SA =3B and 4B = 5C, then what is the value of A : B : C?
Options :

1. % 4:5:3

2.%5:3:4



3.3:5:4
4. % 15:20:25

Question Number : 50 Question Id : 2752283259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 5A=3BAUT4B=5C B, A A : B: C BT AH R G2
Options :

I.%4:5:3

2.% 5:3:4

3.93:5:4

4. % 15:20:25

Question Number : 51 Question Id : 2752283260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the three number is 210. If the ratio of the first and second number is 5 : 6 and the ratio of second and the third number is 3 : 5, then
what is the smallest number among three numbers?

Options :
1. * 60
2. %10
3.¥ 50
4. % 100

Question Number : 51 Question Id : 2752283260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Temaii 1A 210 B 1 Tfe Ugel aUT GOt TR BT ST 5 : 6 8 U7 GO a1 A=) TReAT T U 3 : 5 7, Al <iF1 s 7 9
T BICT T T 82

Options :

1. % 60

2. % 10




3.9 50
4. % 100

Question Number : 52 Question Id : 2752283261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A principal of Rs. 15000 is invested at simple interest for 5 years. If the per annum rate of interest is 20 percent, then what will be the amount
after 5 years?

Options :

1. % Rs. 40000
2. % Rs. 30000
3. #® Rs. 25000
4. % Rs. 27000

Question Number : 52 Question Id : 2752283261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§£§0Wﬁ$wwwﬁsaﬁ%mmwwwﬁémmw%ltri%mﬁﬁfaﬁazouﬁm%,a‘rsaﬁ%mﬁr&mw
?

Options :

1. % 40000 3T
2. ¢ 30000 3T
3. % 25000 3T
4. % 27000 3T

Question Number : 53 Question Id : 2752283262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A truck left 4 hours early than the scheduled time and in order to reach its destination 560 km away on time, it had to decrease its usual speed by
16 km/hr. What is the usual speed of the truck?

Options :
1. ¥ 56 km/hr



2. #® 68 km/hr
3. ¥ 40 km/hr
4. # 72 km/hr

Question Number : 53 Question Id : 2752283262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ¢ U YR THT 9 4 6 Ugd Fdhardl § auT 560 o 1. gR S/ e R IR IHT § Uga & fo1T 3 0= qi=g T F 16
o5 1. /€T Bt HHT B TSt | T BT ATHR T ol 82

Options :

1. ¢ 56 oo Tl /eicT

2. % 68 fob.di. /et

3. % 40 fo 4t /der

4. % 72 T 41 eicT

Question Number : 54 Question Id : 2752283263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two stations R and S are 400 km apart from each other. A train leaves from R to S and simultaneously another train leaves from S to R. Both
trains meet after 10 hours. If the speed of the first train is 4 km/hr more than the second train, then what is the speed of the slower train?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 16 km/hr

2. 18 km/hr

3. 22 km/hr

4. 26 km/hr

Question Number : 54 Question Id : 2752283263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I LY R TUTS T G Y 410 .71, B G TG Th IS R 'S o 7T FHepeidll § TUT I IHA Teb 30 JerTTS! S Y R & forT
%Iﬁ?ﬁgl 10 ¢ o UYT G YA Sl et € | af Uge Yaal &t i gkt Yarma! ¥ 4 . w1 /der sifdies §, < et aref Yt &t
152

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. 16 T 1Y /5iaT
2. 18 o Y /e
3. 22 fop. 1t /eier
4. 26 T 1l /diaT

Question Number : 55 Question Id : 2752283264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X alone takes 40 percent more time than Y alone to complete the work. If together they can complete the work in 15 days, then how many days
will Y take alone to do the work?

Options :
180

1.« 7

165



Question Number : 55 Question Id : 2752283264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH B B RIBA T X 3BT, Y 3hal § 40 U= 31fd T4 odl 5 | Al a8 A1y e s &1 15 T3 § R R Iavd §, dl S Bl
quf exA H Y 3fava fara &= oo
Options :
180

Question Number : 56 Question Id : 2752283265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of a thombus is 216 cm?2. Difference between the length of its diagonals is 6 cm. What will be the perimeter of rhombus?
Options :

1. #* 20 cm

2. % 60 cm

3. % 80 cm

4. % 15 cm

Question Number : 56 Question Id : 2752283265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS [AUHSI0 BT 876 216 V.1 .2 B 1 3T& fAHUI B g BT 3R 6 9. A, 71 favme or o1 ufvm aar grme
Options :

1. % 20 9.4,

2. ¢ 60 9.1,

3. % g0 A,

4. % 1570

Question Number : 57 Question Id : 2752283266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five times of the diameter of a circle is 140 cm. What will be the nine times of the area of the circle?
Options :

1. ® 7276 cm?

2. % 4646 cm?

3. ¢ 5544 cm?

4. % 6264 cm?

Question Number : 57 Question Id : 2752283266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP g & o &1 UM AT 140 S 81 I & &6 BT A AT 3T g
Options :

1. % 7276 Q.92

2. % 4646 4.1 2

3. ¢ 5544 .11 2

4. % 6264 9712

Question Number : 58 Question Id : 2752283267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number bikes sold by seven companies in a month.

Companies Number of bikes
B | 205
C2 165
o3 195
C4 250
G 135
Co6 348
C7 242

J1 = Value of average number of bikes sold in a month
J2 = Value of difference of number of bikes sold by companies C6 and C7.

What is the value of J1 —J2?
Options :
1. % 104
2.9 114
3. % 124
4. % 242

Question Number : 58 Question Id : 2752283267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & it aferest T 1 § Tra Ul gR1 SR TS S5 ol Te ol g2 B




FIAT STSehl T HEAT
Cl 205
C2 165
C3 105
C4 250
Cs 135
C6 348
C7 242

J1 =TS T | o5 5 s ] BT 31d A
J2 = HUAT C6 AYUT C7 GRI S T8 STseh P TS T 3R A

I -RBTIAARG?
Options :
1. % 104
2.9 114
3. % 124
4. % 242

Question Number : 59 Question Id : 2752283268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of students appeared and failed in an examination over the years.
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Which of the following statement(s) is/are correct?

I. Ratio of number of students appeared in 2001 to the number of students appeared in 2003 is 15 : 16.
II. Percentage of passing students is maximum in 2001.

II1. Average number of students appeared in the given years is 4430.

Options :

1.¥ Only 1

2. % Jand II

3. ® Tand III

4. % 1, I and I

Question Number : 59 Question Id : 2752283268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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frafied & @ &1 9/8 &Y 981 /87

1. 2001 H IURYA B aTal BT &1 W= &1 2003 H JURRYT 11 a1 ST b AT U 15 : 16 7
1. 2001 H IO ST BT Ul Jau 31 3|

111. 3T 7T auf # IufYd g aTal BT & 3iiad AT 4430 |

Options :

1. ¥ Had 1

2. % 19YTII

3. % 1 AU

4, % [ 11 AYTII

Question Number : 60 Question Id : 2752283269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the percentage of number of students who qualified an examination out of the total number of students who
appeared for the examination during the period 2005 —2010.
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Which of the following statement(s) is/are correct?

L. If the number of students qualified in 2006 was 21600, then the total number of students appeared in 2006 was 36000.

II. If the number of students qualified in 2009 was 12500, then the total number of students appeared in 2009 was 50000.

II1. Ratio of percentage of number of students qualified in 2006 to percentage of number of students qualified in 2009 is 12 : 5.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Only I

2. Only 1T

3.l and III

4.1 and II

Question Number : 60 Question Id : 2752283269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. had 1

2. Haa 11

3.1dUTIIH

4.1d4YT I
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Question Number : 61 Question Id : 2752283270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Feeding a growing human (1)/population would require improving (2)/ crop yield and quality. (3)/ No error (4)
Options :

1. * Feeding a growing human

2. ¥ population would require improving

3. % crop yield and quality.

4. % No error



Question Number : 61 Question Id : 2752283270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Feeding a growing human (1)/population would require improving (2)/ crop yield and quality. (3)/ No error (4)
Options :

1. # Feeding a growing human

2. % population would require improving

3. % crop yield and quality.

4. % No error

Question Number : 62 Question Id : 2752283271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Today, the dollar is the (1)/ principle currency for (2)/settling international payments. (3)/ No error (4)
Options :

1. # Today, the dollar is the

2. % principle currency for

3. % settling international payments.

4. % No error

Question Number : 62 Question Id : 2752283271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Today, the dollar is the (1)/ principle currency for (2)/settling international payments. (3)/ No error (4)
Options :
1. # Today, the dollar is the

2. % principle currency for



3. % settling international payments.
4. % No error

Question Number : 63 Question Id : 2752283272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Sportsmanship refers to virtues such as fairness, self-control and courage.

Options :

1. % much as

2. # too much as
3. # most as

4. ¥ No Improvement

Question Number : 63 Question Id : 2752283272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Sportsmanship refers to virtues such as fairness, self-control and courage.

Options :

1. * much as

2. # too much as
3. # most as

4. ¥ No Improvement

Question Number : 64 Question Id : 2752283273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No



improvement.

He was avoiding to visit her sister lest he didn’t want to meet her husband.

Options :

1. # visit to
2. ¥ visiting
3. % visited

4. ¥ No Improvement

Question Number : 64 Question Id : 2752283273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He was avoiding to visit her sister lest he didn’t want to meet her husband.

Options :

1. % visit to
2. ¥ visiting
3. # visited

4. % No Improvement

Question Number : 65 Question Id : 2752283274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

All his efforts have gone in due to his right hand fracture.
Options :
1. ¥ vain
2. % drain
3. # pain

4, % lame



Question Number : 65 Question Id : 2752283274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

All his efforts have gone in due to his right hand fracture.
Options :

1. ¥ vain

2. % drain

3. % pain

4. % lame

Question Number : 66 Question Id : 2752283275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Rabindranath Tagore is one of the greatest poets that ever lived.
Options :

1. * has been

2. * has

3. * had been

4. ¥ have

Question Number : 66 Question Id : 2752283275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Rabindranath Tagore is one of the greatest poets that ever lived.

Options :

1. #* has been



2. * has
3. ® had been
4. ¥ have

Question Number : 67 Question Id : 2752283276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Instant coffee is

P: moisture readily and must be kept dry

Q: life than coffee beans, but it picks up

R: brewed coffee, and it enjoys a longer shelf
S: obviously quicker to make than

Options :

1. ¥ PRSQ
2. % QPRS
3. % SRQP
4. % PRQS

Question Number : 67 Question Id : 2752283276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Instant coffee is

P: moisture readily and must be kept dry

Q: life than coffee beans, but it picks up

R: brewed coffee, and it enjoys a longer shelf
S: obviously quicker to make than

Options :

1. # PRSQ
2. % QPRS
3. ¥ SRQP



4. % PRQS

Question Number : 68 Question Id : 2752283277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: and partly in reaction to the often sexist and misogynist

Q: not until the second wave of feminism broke in the 1960s and early ’70s,
R: male-dominated underground comics, did women become conspicuous,
S: both as creators and as strong and central characters

Options :

1. ¥ RPQS
2. % SRPQ
3. % RPSQ
4. ¥ QPRS

Question Number : 68 Question Id : 2752283277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: and partly in reaction to the often sexist and misogynist

Q: not until the second wave of feminism broke in the 1960s and early ’70s,
R: male-dominated underground comics, did women become conspicuous,
S: both as creators and as strong and central characters

Options :

1. ¥ RPQS
2. % SRPQ
3. % RPSQ
4. ¥ QPRS

Question Number : 69 Question Id : 2752283278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Boast
Options :

1. # Demure
2. # Distract
3. ¥ Brag

4. # Bloat

Question Number : 69 Question Id : 2752283278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Boast
Options :

1. # Demure
2. # Distract
3. ¥ Brag

4. % Bloat

Question Number : 70 Question Id : 2752283279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Arduous
Options :

1. # Dangerous
2. ¥ Doable

3. # Vexations
4. % Recondite



Question Number : 70 Question Id : 2752283279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Arduous
Options :

1. # Dangerous
2. ¥ Doable

3. % Vexations
4. # Recondite

Question Number : 71 Question Id : 2752283280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Recognitionn

2. % Recoggnition

3. ¥ Recognition

4. ® Recognittion

Question Number : 71 Question Id : 2752283280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Recognitionn

2. % Recoggnition

3. ¥ Recognition

4. % Recognittion



Question Number : 72 Question Id : 2752283281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. ¥ Prosecuation

2. # Disadvantage

3. % Associate

4. % Participate

Question Number : 72 Question Id : 2752283281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. ¥ Prosecuation

2. % Disadvantage

3. % Associate

4. # Participate

Question Number : 73 Question Id : 2752283282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To bury the hatchet

Options :

1. # To hide the murder weapon

2. # To be humiliated

3. % To stop quarrelling and become friends

4. ¥ In under developing stage



Question Number : 73 Question Id : 2752283282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To bury the hatchet

Options :

1. # To hide the murder weapon

2. % To be humiliated

3. % To stop quarrelling and become friends

4. # In under developing stage

Question Number : 74 Question Id : 2752283283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hobson’s choice

Options :

1. ¥ No choice at all as there is only one thing to take
2. % Policy of cautions persistence

3. * Too many options to choose from

4. % To choose one of two options given

Question Number : 74 Question Id : 2752283283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hobson’s choice
Options :

1. ¥ No choice at all as there is only one thing to take



2. # Policy of cautions persistence
3. % Too many options to choose from

4. # To choose one of two options given

Question Number : 75 Question Id : 2752283284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The technique of communication by signs made with the fingers
Options :

1. # Gesticulation

2. ¥ Dactylology

3. % Sinecure

4. % Creche

Question Number : 75 Question Id : 2752283284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The technique of communication by signs made with the fingers
Options :

1. % Gesticulation

2. ¥ Dactylology

3. # Sinecure

4. #® Creche

Sub-Section Number : 2
Sub-Section Id : 275228217
Question Shuffling Allowed : Yes

Question Id : 2752283285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Hypnosis is a trance-like state in which people are more open to suggestibility, are relaxed and likely to process information differently. It is
usually induced by gentle verbal repetition and mental images in a quiet and calm environment. This phase is called ‘induction’ and the goal of
the therapist is to focus the attention of the participant on the modulation and instructions issued by them. Hypnosis can last anywhere between a
few seconds to over half an hour and depends on the ‘hypnotisability’ of the participant. A fifth of people are likely to get hypnotized, the same
proportion completely resistant to it, while the remainder experiences it in some form.

Hypnotic therapy is known to have been successful in cases of behaviour change such as tobacco cessation and weight loss. A 2007 randomised
control trial showed that 20 percent of those who received hypnotic treatment gave up on tobacco as opposed to 14 percent who received
standard behavioural therapy. Another study dealing with weight loss interventions showed that those who received hypnotic therapy along with
behavioural therapy lost double the amount of weight than those who just received behavioural therapy.

Hypnotherapy even has applications for pain relief and mental health issues such as stress and anxiety. While the evidence is encouraging,
researchers and medical professionals alike emphasize that hypnosis is a supplementary treatment and must be used alongside cognitive
behavioural therapy. It also must be recommended by a medical professional.

Hypnotherapy runs the risk of being exploited by frauds and can have harmful effects, and is not expected to work right away. Swift, non-specific
programs that attract a large audience are likely to be ineffectual and based on questionable science, bordering on cults.

Sub questions

Question Number : 76 Question Id : 2752283286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Risks of Hypnotherapy

2. ¥ Hypnotherapy for physical and mental health
3. % Applications of Hypnotherapy

4. # Cognitive behavioural therapy

Question Number : 77 Question Id : 2752283287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is definitely true about Hypnosis?

Options :

1. ¥ Hypnosis can last anywhere between a few seconds to over half an hour.

2. % All the people are hypnotizable, in hypnosis therapy.



3. % Hypnosis should not be used with cognitive behavioural therapy.

4. ¥ Hypnotic therapy can help in losing weight in less number of days.

Question Number : 78 Question Id : 2752283288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct antonym of the word ‘highlight’ from the given passage?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Cessation

2. Cognitive

3. Emphasize

4. Resistant

Question Number : 79 Question Id : 2752283289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true about behavioural therapy?

I. Behavioural therapy along with hypnotic therapy is more effective for weight loss.
II. Hypnotic treatment is more effective than behavioural therapy for tobacco cessation.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 80 Question Id : 2752283290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which tone can be identified from the given passage?



Options :

1. # Pessimistic
2. # Sarcastic
3. # Cautionary
4. ¥ Optimistic

Question Id : 2752283285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Hypnosis is a trance-like state in which people are more open to suggestibility, are relaxed and likely to process information differently. It is
usually induced by gentle verbal repetition and mental images in a quiet and calm environment. This phase is called ‘induction’ and the goal of
the therapist is to focus the attention of the participant on the modulation and instructions issued by them. Hypnosis can last anywhere between a
few seconds to over half an hour and depends on the ‘hypnotisability’ of the participant. A fifth of people are likely to get hypnotized, the same
proportion completely resistant to it, while the remainder experiences it in some form.

Hypnotic therapy is known to have been successful in cases of behaviour change such as tobacco cessation and weight loss. A 2007 randomised
control trial showed that 20 percent of those who received hypnotic treatment gave up on tobacco as opposed to 14 percent who received
standard behavioural therapy. Another study dealing with weight loss interventions showed that those who received hypnotic therapy along with
behavioural therapy lost double the amount of weight than those who just received behavioural therapy.

Hypnotherapy even has applications for pain relief and mental health issues such as stress and anxiety. While the evidence is encouraging,
researchers and medical professionals alike emphasize that hypnosis is a supplementary treatment and must be used alongside cognitive
behavioural therapy. It also must be recommended by a medical professional.

Hypnotherapy runs the risk of being exploited by frauds and can have harmful effects, and is not expected to work right away. Swift, non-specific
programs that attract a large audience are likely to be ineffectual and based on questionable science, bordering on cults.

Sub questions

Question Number : 76 Question Id : 2752283286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Risks of Hypnotherapy

2. % Hypnotherapy for physical and mental health
3. # Applications of Hypnotherapy



4. # Cognitive behavioural therapy

Question Number : 77 Question Id : 2752283287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is definitely true about Hypnosis?

Options :

1. ¥ Hypnosis can last anywhere between a few seconds to over half an hour.
2. % All the people are hypnotizable, in hypnosis therapy.

3. % Hypnosis should not be used with cognitive behavioural therapy.

4. ¥ Hypnotic therapy can help in losing weight in less number of days.

Question Number : 78 Question Id : 2752283288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct antonym of the word ‘highlight’ from the given passage?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Cessation

2. Cognitive

3. Emphasize

4. Resistant

Question Number : 79 Question Id : 2752283289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true about behavioural therapy?

I. Behavioural therapy along with hypnotic therapy is more effective for weight loss.
II. Hypnotic treatment is more effective than behavioural therapy for tobacco cessation.

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 80 Question Id : 2752283290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which tone can be identified from the given passage?
Options :

1. # Pessimistic

2. % Sarcastic

3. % Cautionary

4. ¥ Optimistic
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Question Number : 81 Question Id : 2752283291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R =M A 3T Bica faflu
35 I8 & T g1 T 3R qH Fad o |
Options :

1. % g3
2. ¥ %
3. % Iqd!
4. % 3T

Question Number : 81 Question Id : 2752283291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ®M o 3H STeax g
IgH I8 & forT gt T 3R T Tt a1 |
Options :

1. % O
2. %
3. % JgdI
4. % 34



Question Number : 82 Question Id : 2752283292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T T3] BT el dH-ded JTd BT

Options :

1. % Hd-@d

2. ® GHgm-dlel
3. ¥ PRIBIPoll

4. % 3TeT-3fef

Question Number : 82 Question Id : 2752283292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Trsc] T U1 dTH-d&d J1d DI |

Options :

1. % $ad-gd

2. % Hg®-Picl
3. ¢ BIRIBI-Hll

4, % 3fer-3ref

Question Number : 83 Question Id : 2752283293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafad & & S1H-91 eg 339 27
Options :

1. ¢ f&fean

2. % 3R

3. % 3]

4. % SURA



Question Number : 83 Question Id : 2752283293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad 7 @ HH-91 Yeg 3 32
Options :

1. ¢ fefemn

2. % 3R

3. % 3ad]

4. % $ARA

Question Number : 84 Question Id : 2752283294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77T Wrec; &1 faeliv Weg T BT
e

Options :
1. % Ydd
2. % dx&d
3. ¢ Ul
4. % faxd

Question Number : 84 Question Id : 2752283294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Wsg T I Wee I BT
Rad

Options :
1. % ad
2. % q¥&d

3. ¢ quf



4. % fa¥q

Question Number : 85 Question Id : 2752283295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tsg 1 fadiA e F10 BT
BSEIHy

Options :
1. % gy
2. % TP
3. B
4. % gy

Question Number : 85 Question Id : 2752283295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U Treq &1 faH Weg J1d HIWI
Ty

Options :
1. % gy
2. % Ef¥
3. Ay
4. % gy

Question Number : 86 Question Id : 2752283296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U graRIie o foTu IfRId Wee &1 994 ST |

¢ T e I are|




Options :

1. % e

2. % e
3. ¢ i
4. % gf&

Question Number : 86 Question Id : 2752283296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ areRIier o fore Sfid Weg 1 = HifeTg |

¢ I A T T
Options :

1. % e

2. % e
3. ¢ 3MYH
4. % gfe

Question Number : 87 Question Id : 2752283297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT U wrsal A Y Idt BT T HIf
Options :

1. ¢ e

2. % fAReor

3. % HRfarm

4. % Fifefor

Question Number : 87 Question Id : 2752283297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3U T Trsal # Y ad &1 994 Difo |
Options :

1. ¢ e

2. % fAfReqor

3. % Ao

4, % ifveor

Question Number : 88 Question Id : 2752283298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 &1 BT F1d P

# oot fOher g T T
Options :

1. & HIHY Yd

2. % gUi d

3. % AT Hd

4. % 3qui yd

Question Number : 88 Question Id : 2752283298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T 91T BT HTel A1 DI

# e flher e T T
Options :

1.« gIH Hd

2. % QUi yd

3. % 3T Hd

4. % 3qul 4d



Question Number : 89 Question Id : 2752283299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 1o 1 Ugf 1 BT |

v HfdR Smen
Options :

1. % gy

2. % i ugr
3. ¢ 3 ug

4. % FrAGEYD g

Question Number : 89 Question Id : 2752283299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T aTerRr 1 Ugf 31 BT |

qH HfeR Wl
Options :

1. % g uy

2. # FfEande uer
3. ¢ S ug

4. % Gradayd ggf

Question Number : 90 Question Id : 2752283300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad a1l O 9 Y[ 91 &1 994 Hifod |
Options :

1. % M Y I 30+ RR &l e &= feram

2. ¢ T Y I 30T RR = o= ferm|

3. % M DI golg A I 30+ RR &l e &= feram




4, % I TH T 31 RR e e fean

Question Number : 90 Question Id : 2752283300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad are o ¥ Y[ 919 &1 994 DI |
Options :

1. % 8 Y I8 3 RR 1+ o fera|

2. ¢ X Y I SUAT R o fera|

3. % Y $I golg F I 30 RR &1 A = feran
4. % I TH Y 301 R e o f&am

Question Number : 91 Question Id : 2752283301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRa arerl ® J TR J1e 1 Do
Options :

1. ¥ H &Ha Id T8 Al qHl |

2. % HHd Id a1 I BT 3R Ugdl 387!

3. % Hod Id Tl O b1 P H ug 8T ol
4. % T Ug IgT YT 39T T8t Y g1 |

Question Number : 91 Question Id : 2752283301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufaRad areal § O TRa 9199 J1d S|

Options :

1. ¢ U &d Id el 91 THT|

2. % Wohd Ad Tl Il TobT 3R UgdT 38T

3. % T e Id T8l 9 JobT Fife & ug 8T ATl
4. % T U QT YT 39feT 7g) A ThT|




Question Number : 92 Question Id : 2752283302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 w4 pifor |
faare dey & 9 H e usar gl

Options :

1. ¢ il

2. % ddUd

3. % 3fGfRH
4. % g

Question Number : 92 Question Id : 2752283302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged AR forg &1 =994 Hifou|
fyare dey & 9 T e usar gl

Options :

1. ¢ Tl

2. % dyd

3. % SR
4. % QY

Question Number : 93 Question Id : 2752283303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Suged form fug &1 o= pifor |
ST ST G Y 3R aHT 30 &1 & Jau ]|

Options :




1. %
2.9
3. % |
4, % ;

Question Number : 93 Question Id : 2752283303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 ¥ Iuged AR forg &1 =994 piforu|
3T=ITS T g Yot 3R IHT 30 B H JaT B |

Options :
1. = :
2.9,
3. % |
4. %,

Question Number : 94 Question Id : 2752283304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fou U IR faweat & ¥, 39 fadmen &1 7997 & 51 fou U geTak & 31 ol Yd9% U § oJad Rl ¢ |
TS 3G T ST

Options :

1. % 3{Tufy ¥ & ST
2. ¢ THM HE T ST
3. % GERI AT

4. % TS WRE B

Question Number : 94 Question Id : 2752283304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy o, fau 7T IR fdmed O 9, 39 fadhed &1 70 3 o1t [T U GRTar & 31 &1 A48 U W a9 Hdl 6 |
TS 3G q ST

Options :

1. % 3Ry ¥ & ST
2. THM HIEG T ST
3. % ERI AT

4. % [d W hI]

Question Number : 95 Question Id : 2752283305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fou U IR faweat & ¥, 39 faden &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl g |
3R T 3R B ST

Options :

1. % O Y B HAT

2. ¢ QUIG: S&d oIl

3. % 3B UMY HAT
4. % $B P R gal |l

Question Number : 95 Question Id : 2752283305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTak & 31 ol Ia9% U I oJad HRdl ¢ |
3R T 3R B ST

Options :

1. % Od q S HAT

2. ¥ QUId: SiGel ST

3. % 3B TR HRAT
4, % $B B R gol |l




Sub-Section Number : 2
Sub-Section Id : 275228219
Question Shuffling Allowed : Yes

Question Id : 2752283306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

frafeiad T & emyde ufeu 3R fau 1w usi & I il

AT qol - 1946 5. H HTR BT ATHR (HaT UT| HHER TH U1 TR ¢ foraa! 7l IR fay § <@ 9 - & fiad g1 dHer
fRT & 3G &1 &, S B B YA DI GWd gY 31191 & T Bl Hex &1 T Hf Hgl Il § 1 IaHH T HHR BT 8| T8 Th
U1 3 g off fororelt &t Wfad o TaTferd gial § aul I8 Ai-g ARass O i g 1 I 701 R b1 § | A U1 T § bt AT aral o1 |
Tt Aol ugeR &1 BT 9UT A 81U H BTY &R 931 X7 | HeR aRAd H 31Tol & qaifid HTaRgahd] & 1 g | 31191 & T80 H HeR
Tt & § gURY Aeg SR XeT ¢ | faemeral 7 off faenfiat ot sae Rieror faar S 381 8 | 39T SUaN SREM! H &d ol -, ¥ Hif
TaTe quT fedre sier, e, A &1 SHeRY, a1 e, Sidfer fase, uRag oraw, foam uRaes, fifdrn, =R, difsar
T a0l & 1Y fSferad qun Iraiet onfe Wal & gl ¥ Hger IR Wal Ht S Tl g1 Sbi U9 &3 30 &5 # Her & ITaN HI%)
THd T ¢ | fedmel & SREUT, T & SaHTd qT faaM & B IR T a1 a1g IRag & Jare U 9 9aH & o off Fger )
%&%m@m%%%@%wﬁq%W,W,W,aﬁ,gﬁ?,@ﬁ,%&wﬁﬁsﬁwmw
IH1 8|

Sub questions

Question Number : 96 Question Id : 2752283307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR BT SHfAhR feba febar um
Options :

1. ® S ANl 9gs

2. % Tchferdy Aferett

3. % She Y

4. I oo

Question Number : 97 Question Id : 2752283308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HueR fpe! 3782
Options :

1. % ARG

2. ¢ fa3

3. % Wd-Pa

4. % giRkagd

Question Number : 98 Question Id : 2752283309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tl & GHY H A4 Sitad o o Tey 31 IuTed &1 82
Options :

1. % fagm

2. % Y

3. % UR

4. ¥ HYR

Question Number : 99 Question Id : 2752283310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot =1 H SegeR B e HRaSp BT gl fire 9T 8
Options :

1. % 3fiecier

2. % N4

3. % I

4.+ ST

Question Number : 100 Question Id : 2752283311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S TR T IUgad MNP T R

Options :



1. % HYCI: Wl BT 1Y
2. % HYLR: URIGH BT Y
3. ¢ HYR DT Hgd

4. % HYR & gURUMH

Question Id : 2752283306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

frafeiad T & emyde ufeu 3R fau 1T usi & 3w il

AT SS9 1 1946 5. W IR b1 SHABR fobam T | TR Teb THT HIThR g Forept =il R sy 3§ G 7 G b el 81 aﬁmg“\f
fORT & 3G &1 &, S B B YA DI GWd gY 31191 & T Bl Hex &1 T Hf Hgl Il § | IaHH T HER HI 8| T8 Th
wa%@ﬁﬁ?ﬁaﬁmﬁfﬁw%ﬁm%aw%wmﬁﬁ?ﬁaﬂﬁl@ruuwlWﬂobdl%lIrFﬁﬂﬂT u%aﬁ&nﬁaﬁ{:mfr
Tt Aol ugeR &1 BT 9UT A 81U H BTY &R 931 X7 | HeR aRad H 31Tol & qaifd HTaRgadhdl & 1 § | 31191 & T8 H HeR
Tt & & §ARY Hag o X8 ¢ | faamaal & +ft faenfial &t sueT Rrer faan 911 X871 7 | S9HT ST SRAM! 8 &d Gof 91, X 77
TaTe quT fedre sier, e, A &1 SHeRY, a1 e, Sidfer fase, uRag oraw, foam uRaes, fifdrn, =R, difsar
@aw%w&%ﬁéawwwerﬁi%@ﬂlﬁd{@dl‘@rmuicw?mnﬂ-ﬁGlTHobdl%IQohlqaﬁmaa‘rﬁqmicemduqmor>|um
THd TeT ¢ | fedmel & SREUT, T & SaHTd qT fadM & B IR T a1 a1g IRag & Jare U 9 9aH & o off Fger W)
%&%mm@ A4 St & forT e 31 Iurey § 1 sMfesT, &, 61, i1, gids, Wi, fae ofe @ 38 0d AT &1
Eeaid

Sub questions

Question Number : 96 Question Id : 2752283307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR BT SHfAhR feba febar um
Options :

1. ® S ANl 9Ts

2. % Tchferdy Aferett

3. % She Y

4. I oo

Question Number : 97 Question Id : 2752283308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HueR fpe! 3782
Options :

1. % ARG

2. ¢ fa3

3. % Wd-Pa

4. % giRkagd

Question Number : 98 Question Id : 2752283309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tl & GHY H A4 Sitad o o Tey 31 IuTed &1 82
Options :

1. % fagm

2. % Y

3. % UR

4. ¥ HYR

Question Number : 99 Question Id : 2752283310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fb 221 A e Y HIFd ARKTSS BT oll 1Bret bl 82
Options :

1. % 3fiecier

2. % N4

3. % I

4.+ ST

Question Number : 100 Question Id : 2752283311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sudad TR F1 Iugad e 1 g
Options :

1. % HER: Wl BT YA

2. % HICR: URTEH BT HYA

3. ¢ HYI B Hed

4. % HY b gURUTH

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Disciplinel

6
27522894
0

0

No

No

0

20

No

Disciplinel

275228184
1

Online
Mandatory
20

20

20

Yes

1
275228220
Yes



Question Number : 101 Question Id : 2752283312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While using formal calisthenic drills, emphasis should be on which of the following?

I. Aim to obtain good posture throughout the lesson
II. Aim to secure alertness in response to commands and body control in all movements
III. Aim to produce general effects of exercise

Options :

1. % Only I

2. % Il and III
3.% 1, Il and 11
4. % Only III

Question Number : 101 Question Id : 2752283312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el Sl fea &1 Iua SR Ha, Fafaied # @ feg R SR fear s anfew

1. QX U6 H 33! JgT U DHR b1 el

1. Tt gl §, SMeR 3R IRR W FAA701 & Sard H FadhdT QR B &1 aed
111, T & ATHI YHIT ST B Bl d&d

Options :

1. % Had

2. % 1 AUTIII

3.9 L 11T

4. % Had I

Question Number : 102 Question Id : 2752283313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are important to evaluate in a teacher as elements of probable success?



I. Training
II. Experience
III. Personality

Options :

1. ® Tand II

2. % Il and III
3. I, II and III
4. % Tand III

Question Number : 102 Question Id : 2752283313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrerep A GTTId Tadr & dedl & &0 H Jedihd o34 & forg Fgfeiad § @ &9 91/ Heayu 8/8?

1. gferefor

L. 3{gHd
111, Afddd

Options :

1. % 1dY1 1

2. ® 11 dUT I
3.9 1 I AT 1T
4, % 1dYTIII

Question Number : 103 Question Id : 2752283314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the sign(s) and symptom(s) of concussion?

I. Shallow Breathing
II. Cold and clammy skin
III. Rapid and weak pulse

Options :
1. # Tand II



2.% 1 II and III
3. % Il and III
4. % Only III

Question Number : 103 Question Id : 2752283314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & A S I/ B B1/P T8I0 8/82

1. 3y Y
11. 3t 3R Fufrdt @=n
11 g 3R HHSIR TS

Options :

1. % 1dY1 1
2.9 1 11 dYT I
3. % 11 dUTIII

4. % Had I

Question Number : 104 Question Id : 2752283315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the aim(s) of first aid?

I. To preserve life
II. To prevent the condition from worsening
I1I. To promote recovery

Options :

1. % 1, 1l and III
2. # Il and III
3. % Only II

4. % Only III

Question Number : 104 Question Id : 2752283315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FoRIEd & ¥ 31 918 Uraftie R &1/% 33 8722

1. St &1 WRf&d &=

11. U 1 favre 9 X
111, WY 1Y & S¢TdT &1
Options :

1. ¥ LI aYT I

2. % [1TYTIII

3. % Had II
4. % Had I

Question Number : 105 Question Id : 2752283316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many types of epithelial tissues are there?
Options :

1. % Two

2. % Four

3. % Six

4. ¥ Three

Question Number : 105 Question Id : 2752283316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fdferad Sae fhdn TR & 8id 82
Options :

1. % QI

2. % IR

3. % 9

4. ¢ dH




Question Number : 106 Question Id : 2752283317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of BMI?

Options :

1. ¥ Body — Mass Index

2. ®% Back — Mass Index

3. % Body — Matter Index

4. ¥ Back — Matter Index

Question Number : 106 Question Id : 2752283317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o, TH. 3. P 3fed U 1 82
Options :

1. ¢ SISl - A S8R

2. % d% - A TS

3. % §iel - AR o0

4. % 9 _ AR SS

Question Number : 107 Question Id : 2752283318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a plant source of protein?
Options :

1. # Pulses

2. # Dry Peas

3. % Dairy Products

4. * Groundnuts



Question Number : 107 Question Id : 2752283318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & ¥ & 91 UIdH &1 U Uley Jid 781 22

Options :

1. % grof

Question Number : 108 Question Id : 2752283319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATP is the body’s unit of energy. What is the full form of ATP?
Options :

1. ¥ Adenosine Triphosphate

2. % Adenomone Triphosphate

3. % Adenosine Trophosphate

4. % Adenomate Triphosphate

Question Number : 108 Question Id : 2752283319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 IRR B SHTS 5| T BT i = &1 g2
Options :

| v GIRA eewidre

2. % TSHIHIA CIEHhIEhe

3. % TSHIRMA CIBIbe

4. % TR e

Question Number : 109 Question Id : 2752283320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the functions of Pre-Competition Meal?

L. It prevents hunger feelings during the event
II. It provides enough glycogen storage

II1. It gives positive psychological feeling

IV. It prevents hypoglycemia (low blood sugar).

Options :

1. % IL, III and IV
2.9 1 1L, 1l and IV
3.% Il and IV

4. % Il and IV

Question Number : 109 Question Id : 2752283320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad # 3 o1 3 gd-ufaaifirdr HieH & &1 g2

I. 98 3d< & SR YF P UGS &I Jdhdl &

I1. T8 U T Ior HSRUI UGH &Rl §

I11. T8 YHRIHD HAaTD SYfA ST §

1V, I8 gIUNaR S (Fg Yad T &) Abar 2|
Options :

1. % IL I JUT IV

2. ¥ L 1L I AUT IV

3. % LTIV

4, % I dUTIV

Question Number : 110 Question Id : 2752283321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the training, an athlete’s energy expenditure is 4000 calories per day. Which of the following is/are correct about his nutritional
requirement?



I. 600 gms carbohydrates per day
II. 150 gms protein per day
III. 111 gms approx. fats per day

Options :

1. # Iand III

2. % Il and III
3. % Only III
4. 1,11 and 11T

Question Number : 110 Question Id : 2752283321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g%m%aﬁw,wqwﬂzmmmmooﬁﬂuﬁﬁqm%l Foffead & ¥ o 91/ 39! U T 3awgehdl & deu | Igt

1. 9fd {39 600 U0 el ge
1. ufd f&4 150 I\ gieH

111 9fct & AT 111 TTH o=
Options :

1. % [JATII

2. ® QYT

3. % ohad I

4. 1 11 dYT 1T

Question Number : 111 Question Id : 2752283322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year first modern Olympics took place in Greece?
Options :

1. % 1872

2. % 1901

3. ¥ 1896



4. % 1906

Question Number : 111 Question Id : 2752283322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I o ggan YA Sicifue e au gaim U
Options :

1. % 1872

2. % 1901

3. ¥ 1896

4. % 1906

Question Number : 112 Question Id : 2752283323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The Olympic games are pretty uncomfortable. You are scorched by the sun and crushed by the crowds. You get soaked when it rains. You are
deafened by the constant noise. But its all worth it for the brilliant events you will see.” This above statement is written by which of the
following?

Options :

1. ¥ Epictetus

2. % Epicurus

3. % Marcus Aurelius

4. % Diogenes

Question Number : 112 Question Id : 2752283323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3 WS BB S § | 3T YU J FR T BN & 3R 1S ¥ I T B & | SRR 1 TR 319 1T 971l & 1 379 TR ¥R 9§
%ﬁﬁw@r%wﬁma‘rww&wé@ﬁmﬁu%w%%ﬁwél”wmmmﬁqﬁﬁaﬁﬁmmmw

Options :

1. ¢ QTUdeey



2. % TRy
3. % HIHY ARfy
4. % SO

Question Number : 113 Question Id : 2752283324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Human Physiology integrates aspects of to explain biological events and their sites of occurrence.

L. chemistry

II. biology

II1. physics

IV. nutrition
Options :

1. # I, T and III
2.% LI, Il and IV
3. % I, I and TV

4, % Tand 11

Question Number : 113 Question Id : 2752283324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT IRRIhAT [GFH Sifde gesil 3R 3 °fed §H & RId! &1 RHAT H3 & Q7Y & UEqal &) TPhidpd HRT g |

L. XYY ARA

VSSICACEIR]
111, Hifaest
ALY

Options :

1. % LITdUT I

2. LILITdYT IV
3. % ILIOIAUT IV
4. % T dYUTIII




Question Number : 114 Question Id : 2752283325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Lysosomes?

I. A lysosome is an organelle that contains enzymes that break down and digest unneeded cellular components.
II. Lysosomes are also important for breaking down foreign material.

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 114 Question Id : 2752283325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AARNAY & GeH § Fufeiad & 9 &1 91/ Sy 98 2782
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Options :

1. % FHad 1
2. % Had Il
3.9 1 AU Gl
4. % qGIIATRIII

Question Number : 115 Question Id : 2752283326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the type(s) of muscle tissue?

I. Skeletal



II. Cardiac
I1I1. Smooth

Options :

1. % 1, 1l and III
2. # Il and III
3. % Only II

4. % Only III

Question Number : 115 Question Id : 2752283326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & ¥ oF I/ ARl Sab /6 PR 8/8?

1. hecd
1. FIFSTH
111 Y

Options :

1. ¥ 1, 1 QYT I
2. % AU
3. % Had I

4. % Had I

Question Number : 116 Question Id : 2752283327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about the vertebral column?

I. The vertebral and intervertebral discs together forms the vertebral column

II. It is a flexible column that supports the head, neck and body and allows for their movements

II1. It originally develops a series of 33 vertebrae

I'V. The adult vertebral column does not form a straight line, but instead has four curvatures along its length
Options :

1. ® I, II and IV



2. 111 1l and IV
3. % 11, Il and IV
4. % 111 and III

Question Number : 116 Question Id : 2752283327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% LIIdUTIv
2.9 LIL LT AT IV
3% 0L T AT IV
4, % [, I dYT I

Question Number : 117 Question Id : 2752283328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of synovial joint?
Options :

1. * Saddle joint

2. % Pivot joint

3. # Ball-and-socket joint

4. ¥ Synchondrosis joint

Question Number : 117 Question Id : 2752283328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|, % o iy

2. % ¢RI Y

3. % SHgd Wiewdn! AfY

4. ¢ RipieIg Ty

Question Number : 118 Question Id : 2752283329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about skeletal muscles?

I. When a muscle has a widespread extension over a sizable area, but then the fascicles comes to a single, common attachment point, that muscle
is called convergent
II. The muscles in which fascicles are located on one side of tendon, are called unipennate muscles

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 118 Question Id : 2752283329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
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4. % qIEIATIBI I

Question Number : 119 Question Id : 2752283330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the type(s) of motor skills?

L. Sports skills
II. Fundamental skills

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 119 Question Id : 2752283330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & O &1 9/ A B BI/b YbR Tel 8/e?

L. 9 DI
I1. e I

Options :

1. % Had |

2. % Had I

3. % [ QYT
4. TIRIIATRII

Question Number : 120 Question Id : 2752283331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The overload should not increase too rapidly. Rapid increase in overload may lead to injury or muscles damage.’ This above statement describes
which principle of sports training?



Options :

1. % The principle of Individual Differences
2. % The principle of Progression

3. # The principle of Specificity

4. # The principle of Variety

Question Number : 120 Question Id : 2752283331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % iaaTd ek &1 Ry
2. ¢ T &1 Rigid
3. * fafryer &1 Rieid
4. % fafayar &1 Rigid
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Question Number : 121 Question Id : 2752283332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Before starting with flexibility training, it may be necessary to adhere to few guidelines. Which of the following is/are that/those guidelines?

I. Stretching exercises should be performed after thorough warm up to avoid injuries
II. Maintain a good posture while performing flexibility exercises

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 121 Question Id : 2752283332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 122 Question Id : 2752283333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The intensity of stimulus can be described by which of the following?

I. Frequency of movement
II. Speed in a cyclic exercise
ITI. Amount of load during muscle strength exercise

Options :

1. ¥ I, 1T and I1I
2. % Il and IIT
3. % Only III
4. % Only II

Question Number : 122 Question Id : 2752283333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1, 11 aUT I

2. % [ AUTIII

3. % Had Il

4. % Had Il




Question Number : 123 Question Id : 2752283334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The training year or the time available for training can be divided into three periods — Preparatory period, Competition period and Transition
Period. Which of the following statement is not correct about Preparatory period?

Options :

1. #® The aim of this period is to concentrate on development of different factors on which sports performance depends
2. % This period is dominated by high intensity of stimulus but volume is medium

3. # This period covers 2/3 part of the total training

4. ® This period is divided into two or three phases depending upon the total time available for training

Question Number : 123 Question Id : 2752283334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3 39 BT I AT PRI P [T IR M Higd H31 & o R Id vez- R drarg
2. ¢ 3 Safy § W™ & 3 digdl &1 WY@ 8IdT § Al AT Heqd 8idT &

3. % g 3fafd QX UTRI&U1 & 2/3 YT DI HAR Bl &

4. % YiR&01 & U IUA Hd THT & SMYR TR 39 Iy HI g1 a1 i ==uil # fauiford foran Srar g

Question Number : 124 Question Id : 2752283335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When various practices are systematized and formed into a discipline employing such practices, then these systems are known as ‘schools’ of
yoga. Which of the following are these systems?

I. Bhaktiyoga
II. Karmayoga
II1. Hathayoga
IV. Layayoga



Options :

1. LIL I and IV
2. % Il and III

3. % I, I and III

4. #® Il and IV

Question Number : 124 Question Id : 2752283335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T faftiel STl o oqafyd b SiTdT & SR T 31l ol Faiford scs Ueh SRR H 1S foha STl &, ol 31 Jorferd &1 aivT o
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Options :

1. L II, I ddT IV
2. % I dYTIII

3.% [ I dYUTIII

4. ® I dUTIV

Question Number : 125 Question Id : 2752283336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the classification(s) of yogic practices?

I. Pranayamas
II. Kriyas

Options :

1. % Only I

2. % Only I

3. % Both I and I



4. % Neither [ nor 11

Question Number : 125 Question Id : 2752283336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 126 Question Id : 2752283337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the region(s) of cleansing involved in various kriyas?

I. Intestinal
II. Nasopharyngeal

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 126 Question Id : 2752283337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. % [ QYT
4. TIRIIATRII

Question Number : 127 Question Id : 2752283338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An official is someone who controls the actual play of a competition. Which of the following can be considered as an official?

I. Umpire
II. Referee

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 127 Question Id : 2752283338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % ATEIIATSII

Question Number : 128 Question Id : 2752283339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By which of the following way(s) sports coaches can help individuals focus their minds and hone their bodies?

I. Constructive Criticism
II. Motivation
1. Expert Tutoring

Options :

1. * Tand II
2.9 1, Il and I1I
3. % Iland IIT
4. % 11

Question Number : 128 Question Id : 2752283339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.= Iddl

2. LI dYTIII
3. % I dUT I
4. = 11

Question Number : 129 Question Id : 2752283340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
An athlete might consider hiring a sports coach to help him/her in which of the following?

I. Starting a new sport
II. Improving his/her game

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 129 Question Id : 2752283340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 130 Question Id : 2752283341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the Pre-game duties of an official?

I. If necessary, the official may inspect the uniform of the team and instructions may be given to them accordingly.

II. All equipments needed or other items required should be brought to the ground so that there is no delay before or during the course of the
game.

II1. If possible, a meeting of the coaches and captains may be called so that necessary instructions regarding the game may be given.

Options :



1. 1, I and III
2. % Il and III
3. % Tand III
4. % Only III

Question Number : 130 Question Id : 2752283341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1, I TUTIII

2. % QYT

3. % [ qUTIII
4. % Had III

Question Number : 131 Question Id : 2752283342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following should be the qualities of a coach?

I. Ability to assess potential in candidates
II. Ability to observe analytically

III. Personality and Character

I'V. Imagination

Options :

1. ®* [, II and IV
2.¥ LI Il and IV
3. % II, Il and IV
4. % I, 1I and III



Question Number : 131 Question Id : 2752283342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % LITdITIV
2.¢ L IL L dUT IV
3. % 00, [T ddIT IV
4, % I, I dYT I

Question Number : 132 Question Id : 2752283343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In sprints, sitting start is known as crouch start. Which of the following are the types of crouch start?

I. Elongated start
II. Bunch or Bullet start
III. Medium start

Options :

1. ¥ I, Il and III
2. % Il and III
3. % land III

4. % Jand II

Question Number : 132 Question Id : 2752283343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1, QYT I
2. ® [IAYTIII

3. % QYT

4, % TdYTII

Question Number : 133 Question Id : 2752283344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In sprinting, the angles of front and rear blocks should be and respectively.
Options :

1. # 90 degrees; 45 degrees
2. % 60 degrees; 45 degrees
3. % 45 degrees; 60 degrees
4. % 45 degrees; 90 degrees

Question Number : 133 Question Id : 2752283344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 134 Question Id : 2752283345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hurdle race is a combination of

I. Walking
II. Running
1. Jumping

Options :

1. # Tand III

2. % Il and III
3. % Tand II

4. % I, 1l and III

Question Number : 134 Question Id : 2752283345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ dYUT I
2. I dYTIII
3.% 14Ul
4. % LI dYT I

Question Number : 135 Question Id : 2752283346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year triple jump was included in Olympics?
Options :



1. * 1836
2. ¥ 1896
3. % 1869
4. % 1879

Question Number : 135 Question Id : 2752283346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 1836

2.9 1896

3. % 1869

4. % 1879

Question Number : 136 Question Id : 2752283347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following topic(s) is/are included in educational psychology?

I. Individual differences
II. Development psychology
II1. Learning theory

Options :

1. % 1, Il and III
2. % Only II

3. % Iland IIT
4. % JTand II

Question Number : 136 Question Id : 2752283347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1, I dUT 11T
2. % Had Il

3. % I dUTIII
4, % 1dYUTII

Question Number : 137 Question Id : 2752283348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not of special interest to sports psychologists of today?
Options :

1. # Self-confidence

2. % Anxiety

3. % Demotivation

4. % Team cohesion

Question Number : 137 Question Id : 2752283348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 2752283349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the general principle(s) of growth and development?

I. Mental growth is dependent upon changed structure

II. Growth in some direction is inevitable

ITI. Growth stages follow a patterned trajectory

I'V. Growth is an outcome of interaction between the organism and its environment

Options :

1. # II, Il and IV
2.% LI Il and IV
3. % Tand IV

4. % Only III

Question Number : 138 Question Id : 2752283349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % II, 1T YT IV
2. L IL I dUT IV

3% 1 qUTIV
4. % Had I

Question Number : 139 Question Id : 2752283350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the general response(s) of an infant?



I. Visual fixation on light
II. Shedding tears

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 139 Question Id : 2752283350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 140 Question Id : 2752283351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is/are peculiarity(es) of later childhood behaviour.

I. Whistling
II. Stoning streetlamps

Options :

1. % Only I

2. % Only II

3. % Both I and II



4. % Neither I nor 11

Question Number : 140 Question Id : 2752283351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. % Had Il
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4. % qEIIATRIII
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Question Number : 141 Question Id : 2752283352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In what way(s) surveys on the personality of superior athletes over the time has convinced the sport scientists?

I. Psychologically, elite athletes are a distinct category of people who are capable of performing under most stressful conditions
II. Top athletes are so meticulously trained that they become master of their sport as they move up in their performance standard

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 141 Question Id : 2752283352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Had 1
2. % Had Il
3. 1dUT 11 Sl




4. % ATEIIATSII

Question Number : 142 Question Id : 2752283353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Aman is a physical education chairperson and he does not provide active leadership. He believes that problems will solve themselves if given
time’. This statement describes which traditional theory(ies) of philosophical and theoretical managerial orientation?

I. Laissez — Faire
II. Democratic
II1. Authoritarian

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 142 Question Id : 2752283353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % HAd II

3. % [QUT I gl

4. % qIEITAIBI I

Question Number : 143 Question Id : 2752283354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination(s) is/are not correct?

I. Short-term budget - One year period
II. Long-term budget - Five or ten year period

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 143 Question Id : 2752283354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 144 Question Id : 2752283355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the basic steps in the budget preparation process?

I. Planning

II. Coordinating
II1. Presenting
IV. Approving



Options :

1. # I, II and III
2.¥ LI Il and IV
3. # Il and III

4. % Jand IV

Question Number : 144 Question Id : 2752283355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % L IIdYUTIII

2. LIL LT AT IV
3. % I dUTIII

4, % 1dYT IV

Question Number : 145 Question Id : 2752283356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The managers drawing the strategies plans should have knowledge and awareness about which of the following?

I. Economy
II. Social evolutions

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 145 Question Id : 2752283356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 146 Question Id : 2752283357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the function(s) of joints?

I. To join bones together while controlling the motion allowed between them
II. To transfer forces between bones

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 146 Question Id : 2752283357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 147 Question Id : 2752283358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the torque created by the active muscle on either limb at a joint is in the direction opposite the rotation of the limb, then occurs.

I. Eccentric contraction
II. Isometric contraction
II1. Concentric contraction

Options :

1. # Il and III
2. % Only I
3. % Only II
4. % Only III

Question Number : 147 Question Id : 2752283358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. Had |
3. % Had 11
4. % Had 11

Question Number : 148 Question Id : 2752283359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The location of center of gravity of human body depends on the position of
Options :

1. #* heart

2. % liver

3. ¥ limbs

4. % lungs

Question Number : 148 Question Id : 2752283359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % gad

2. % Yod

3. ¢ 3 (fefa)

4. % BHgl

Question Number : 149 Question Id : 2752283360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of moment of Inertia?
Options :

1. ¥ kg — m?

2. % kg—m?



3. % kg 12
4. % kg 13

Question Number : 149 Question Id : 2752283360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ kg—m?

2. % kg—m’

3. % kg—1?

4. % ko 13

Question Number : 150 Question Id : 2752283361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radian unit of measure for an angle is really a ratio of
Options :

1. % Arc length / Diameter

2. % Arc length / Radius

3. # Radius / Arc length

4. ¥ Diameter / Radius

Question Number : 150 Question Id : 2752283361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % g/ B

Question Number : 151 Question Id : 2752283362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the significant models of organisational effectiveness?

I. System resource model

II. Goal model

I11. Multiple constituency model
I'V. Process model

Options :

1. #® I Iland IV

2. % I, I and III
3.9 11, Il and IV
4. % [Tand IV

Question Number : 151 Question Id : 2752283362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % LIIdUTIv

2. % [, T dYTIII
3.9 L0, [T AT IV
4, % [IdUTIV

Question Number : 152 Question Id : 2752283363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following measure(s) help in prevention and control of communicable diseases?

I. Wash hands before touching food or water and before eating or drinking
II. Cutting nails and washing hairs regularly
II1. Wash hands with soap and water before touching your face, eyes and mouth

Options :

1. % 1, 1l and III
2. % Only II

3. % land III

4. % Il and III

Question Number : 152 Question Id : 2752283363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1, 11 94T 11T

2. % Had Il

3. % 1Y

4, % [ AU

Question Number : 153 Question Id : 2752283364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First aid for strains, sprains and contusions is packaged in the abbreviation RICE (Rest, Icing, Compression and Elevation). Which of the
following statement(s) is/are not correct about compression?

Options :



1. # Use elasticised bandage, compression sleeve or cloth
2. # Hastens healing time by reducing swelling around injury
3. ¥ Increases seeping of fluid into injured area from adjacent tissues

4. % Wrap injured part firmly

Question Number : 153 Question Id : 2752283364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R SR & g WUfid SUR &1 W3 91 RICE (XX, MR, HHRM TS Tieraw ) & U fovan T g | S8IRE & ded
# fgfafed 7 9 oH 918 $yY9 98! T8l 8782

Options :

1. % AIGR Ugl, PEIRE Wild T HUs BT YN B
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Question Number : 154 Question Id : 2752283365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Components of environmental studies includes

I. anthropology
II. statistics

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 154 Question Id : 2752283365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 155 Question Id : 2752283366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When ancient plants and animals were converted into underground fossil fuels, then in which form minerals were formed?

I. Oil
II. Gas
II1. Coal

Options :

1. # Il and III
2. % TandIII

3. % Only II

4. % 1, 1I and III

Question Number : 155 Question Id : 2752283366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. * [ dUTIII

2. % 1AUTIII
3. % Had II
4. ¢ 1,11 YT III

Question Number : 156 Question Id : 2752283367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why do we use energy?

I. For household use
II. For agriculture
II1. For production of industrial goods

Options :

1. # Tand IIT

2. % Only IT
3.9 1, Il and I1I
4. % Only I

Question Number : 156 Question Id : 2752283367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® [QUTIII

2. % Had I

3.9 LI dUT I

4. % Had |




Question Number : 157 Question Id : 2752283368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Volcanoes are one of the natural causes of air pollution. Volcanoes does not release

L. Sulphur
II. Ash

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 157 Question Id : 2752283368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % FHad 1
2. % Had Il
3. % [ UGl
4. TRIIATRII

Question Number : 158 Question Id : 2752283369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Soils with approximately equal mixture of are called loams.

I. humus



IL. slit
III. sand

Options :

1. # Tand III

2. % [, Il and III
3. # Il and III
4. % Tand II

Question Number : 158 Question Id : 2752283369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYUT 11
2.9 I, T dYTIII
3. % I dUTIII
4, % 1dYUTII

Question Number : 159 Question Id : 2752283370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?

L. In classroom setting, a teacher requires perfect communication skills whereas on the sports field more perfect demonstrative skills can effect
better learning
II. A physical educator must be an expert demonstrator whereas a classroom teacher must be a perfect communicator

Options :
1. % Only I
2. % Only I



3. % Bothland II
4. « Neither [ nor 11

Question Number : 159 Question Id : 2752283370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had I

3. % [ YT 11 Gl

4.« TIGIIATBI I

Question Number : 160 Question Id : 2752283371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Set drills involving emphasise the value of demonstration, observation and by-count practice in the beginning followed by command
method.

I. Wands
II. Hoops
II1. Flags

Options :

1. ¥ I, Il and III
2. % Only I

3. % land III

4. % Tand Il

Question Number : 160 Question Id : 2752283371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. [ 11 9T 111
2. % Had I
3. % T dYTII
4, % 1dYUTII
Discipline4
Group Number : 9
Group Id : 27522897
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline4
Section Id : 275228187
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228223
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752283372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The judicious use of teaching aids makes the of student’s learning increase substantially.

I. quality

II. quantity

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 161 Question Id : 2752283372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % GBI




Question Number : 162 Question Id : 2752283373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the principle(s) of lesson planning?

I. Warming up

I1. Continuity of the lesson
II1. Progression

IV. Age and sex

Options :

1. % I, Il and III
2.% LI Il and IV
3. % ITand IV

4. % Only III

Question Number : 162 Question Id : 2752283373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1,1 dYT I

2. ¢ LI, L YT IV
3. % [ dUTIV

4. % Had I

Question Number : 163 Question Id : 2752283374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A general lesson plan should consist of special activities. Special activities are known for their novelty and complexity. Which of the following



is/are the special activities?

I. Boxing, wrestling and Judo

II. Track and field events

III. Variety of tumbling exercises

IV. Dancing and rhythmic and efficiency tests

Options :

1.¥ LII Il and IV
2. % Il and III

3. % II, Il and IV
4. % 1,1l and III

Question Number : 163 Question Id : 2752283374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 111 [ aT IV

2. % AU

3. % [, [ dUT IV

4. % [ 11 TUTII

Question Number : 164 Question Id : 2752283375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Control of requires profuse use of the command method.

I. morning assemblies



II. parades
II1. march-pasts

Options :

1. # T and III

2. % Only II

3. % Tand II

4. % 1, 1I and III

Question Number : 164 Question Id : 2752283375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [aYTII
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Question Number : 165 Question Id : 2752283376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In physical education, learning-by-doing is fundamental to all activities such as

I. combatives
II. drills

III. exercises
I'V. marching

Options :
1. % II, Il and IV



2. % Only IV
3. % Tand IV
4. % 111, Il and IV

Question Number : 165 Question Id : 2752283376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IL NI dUT IV
2. % Had IV

3. % I dUTIV

4. ¢ LILUTdYT IV

Question Number : 166 Question Id : 2752283377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When applying demonstration in teaching, which of the following points should be kept in mind?

I. Using standard form and procedure, demonstrate skill at operating speed (neither too fast nor too slow)
I1. Do not disturb the order of presentation
II1. Know your activity and teaching progression

Options :

1. I, 1 and III
2. % Il and III
3. % Only II

4. % Jand II



Question Number : 166 Question Id : 2752283377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1, I dUT 11T
2. % I dYT I
3. % had Il

4, % 1 dUTII

Question Number : 167 Question Id : 2752283378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Physical Education is important for

I. Social Adjustment
I1. Intellectual Development

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 167 Question Id : 2752283378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 168 Question Id : 2752283379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the first time in , the Indian Education Commission recommended physical training in school education.
Options :

1. % 1833

2. % 1870

3. % 1892

4. ¥ 1882

Question Number : 168 Question Id : 2752283379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. #1833
2. % 1870
3. % 1892
4.+ 1882

Question Number : 169 Question Id : 2752283380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In medieval period, two cults were famous. Which of the following was/were the cult(s)?



I. Bhakti cult
II. Natha cult

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 169 Question Id : 2752283380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
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4. % qEIIATR I

Question Number : 170 Question Id : 2752283381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Patanjali explained 8 parts of yog. Which of the following is/are those part(s)?

I. Pranayama
II. Niyama
III. Dhyana
IV. Samadhi
Options :

1. # I, Iland IV



2. % I, Il and TV
3. % Only III
4.« 111, I and IV

Question Number : 170 Question Id : 2752283381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UeSIfer = AT o 8 ST Y SareAT b1 &t | Fafeifad # @ &1 |1/ 9g/d 3T 8/6?

1. UTuamrH
1. fFa|
111, &9
V. qEI

Options :

1% LIIdUTIv
2. % 1L, I dIT IV
3. % had Il

4. 1 11, NI dYT IV

Question Number : 171 Question Id : 2752283382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the philosophic basis of principles of physical education?

L. Insight
II. Anatomy
II1. Experience

Options :

1. % Iand II

2. % Il and III
3. % I Il and III
4. [ and III



Question Number : 171 Question Id : 2752283382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad & @ o 98 IRIRe Rien & Rigial s1/e grife muR 3722

1. 3fEl
1. YRR AT (TATCTH

1. 3qHd
Options :

.= Iddl

2. % I dYT I
3% LITAUTII
4, ¢ 1dYUT I

Question Number : 172 Question Id : 2752283383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Physical education should recognize that motor activity is never merely a physical exercise; it is also a social experience
I1. Physical education should play a responsible part in the shaping of social practices, customs and institutions

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 172 Question Id : 2752283383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeEd 3 A 319 918 HuF 98 8780



. RN e &1 98 ugam-1 areT i AR mifafafy Haft off et tes IR o 78l §; I8 T ArEnore 3igya Wi g
1. I fRrer & granfores gutah, Hf-Rarsit Sk Tl & 3R 34 § T fSieR Yftyet Ay =nfee

Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 173 Question Id : 2752283384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Newton’s third law of motion is basically the

I. law of action — reaction
II. law of acceleration
II1. law of inertia

Options :

1. % Only I

2. % Only II

3. % Only III

4. # Neither I nor II nor III

Question Number : 173 Question Id : 2752283384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B TS BT T g g = a gl

1. fhar-ufafear &1 fFaa
1. ©@RUT &1 fAgH
111 SIS &1 a9

Options :

1. ¥ Had 1
2. % BHad Il



3. % Had Il
4. % AT IATSI AT I

Question Number : 174 Question Id : 2752283385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the principle(s) of organisation in sports management?

I. There should be proper decentralisation
II. There should be proper delegation of power at various levels
III. The channels of communication should be well knit and laid both horizontally and vertically

Options :

1. % 1, 1l and III
2. % Only II

3. % Tand III

4. % Only III

Question Number : 174 Question Id : 2752283385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed # 9 S /8 Wd Usyd § 9134 b1/ Riid 8/6?

1. 3 fadrdieeur g1 a1fe T
11. faf¥ TRl R Difeqal &1 Ifd Uamraie g1 91ig @

111 TOR & o 3BT ARE U IS g d1eV Td &fcet 3R daad aiHi aRg § 991 o 91y
Options :

1. ¥ L1 aYT I

2. % Had Il

3. % [ QYT

4, % Had Il

Question Number : 175 Question Id : 2752283386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the popular motor fitness tests used all over the world to determine people’s level of fitness in different situations?

I. Indiana motor fitness test
II. M.S.W.A physical performance test

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 175 Question Id : 2752283386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &1 91/ dieig AR fhea wiemn g R & faftrs ufkfRufaal § @il & freaw & wWR &1 Ruffid o7 & fag suam
foan/fpa Sran/aTTd 2/

1. 3fSTmT AR fthe- afkem

II. T, U9, S&Y, U. ARG Ue=H usiefor
Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 UGl

4. % GBI

Question Number : 176 Question Id : 2752283387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a long jump the take-off has to be made from a cm wide board.
Options :

1. % 30

2.9 20

3. %25



4. % 35

Question Number : 176 Question Id : 2752283387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT dE A S 98 A H-3E HRATUSAT B
Options :

1. * 30

2.9¥ 20

3. % 25

4. % 35

Question Number : 177 Question Id : 2752283388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In pole vault, competitors jump over a meters long horizontal bar.
Options :

1. ® 35

2.¥45

3. %55

4. % 6.5

Question Number : 177 Question Id : 2752283388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jalee § gfeE Mo AR SR $ SR A B
Options :

1. * 35

2.9 45

3.% 55

4. % 6.5



Question Number : 178 Question Id : 2752283389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the types of swimming event?

I. Backstroke
II. Breaststroke
II1. Butterfly

Options :

1. ®* Iand II

2. % Il and III
3. % land III

4. 1,11 and 11T

Question Number : 178 Question Id : 2752283389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 3 19 3 RIb! §d¢ P UHR 82

[ 3PS
1L K H
111, §eTATS

Options :

1. % IdYTII

2. % I dYTIII
3. % 1T dYT I
4.« 111 dUT T

Question Number : 179 Question Id : 2752283390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In gymnastics, the distance between pommels is minimum cm and maximum cm.



Options :

1. ¥ 40; 45
2. % 45;50
3. % 35;40
4. % 30; 35

Question Number : 179 Question Id : 2752283390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s § fae & & &) gt gAad ., qur 3fipan JmM A
Options :

1. ¥ 40, 45

2. % 45; 50

3. % 35;40

4. %= 30; 35

Question Number : 180 Question Id : 2752283391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players are there in a team of baseball?
Options :

1. % 8

2.9

3. % 10

4. % 11

Question Number : 180 Question Id : 2752283391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SgaTd b1 U <A H fob Raerst 8id 82
Options :

1. # 8



2.¥9
3. % 10
4. % 11

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 2752283392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Discipline5

10
27522898

Discipline5

275228188
1

Online
Mandatory
20

20

20

Yes

1
275228224
Yes



Correct Marks : 1 Wrong Marks : 0.25

In a hockey match, there are 4 quarters of minutes.
Options :

1. ¥ 15

2.% 10

3. % 20

4. % 12

Question Number : 181 Question Id : 2752283392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T glob! o o e & 4 BIR B &
Options :

1.¥ 15

2. %10

3. % 20

4. % 12

Question Number : 182 Question Id : 2752283393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The men’s javelin must be meter long.

Options :

1. % 21t02.3
2. % 29t03.1
3.% 241025
4. ¥ 261t02.7

Question Number : 182 Question Id : 2752283393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T HIAT (Safer)  Hiex I dal g 3nfe|



Options :

L% 21923
2. % 29931
3. % 24925
4.¥2692.7

Question Number : 183 Question Id : 2752283394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the weight of metal disk for men in discus throw?
Options :

1. % 1.8 kg

2.% 2 kg

3. % 25kg

4. % 1.75kg

Question Number : 183 Question Id : 2752283394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTma ol ¥ gou & 1w Aed f$%b &1 aor fha grarg?
Options :

1. % 18fHam

2. v 2fb .

3. % 25fbam.

4. % 175fB7m.

Question Number : 184 Question Id : 2752283395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the height of each hurdle in men’s 110 meters hurdle race?
Options :



1.4 107 cm
2. % 100 cm
3. % 115¢cm
4. % 98 cm

Question Number : 184 Question Id : 2752283395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B! &1 110 HieR g0 W H TA® 580 B $Hdls [ha- gl 82
Options :

1.v 107 9.H.

2. % 100 9.H.

3. % 115 A

4. % og QI

Question Number : 185 Question Id : 2752283396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding a badminton match?
Options :

1. ¥ Best of three games to 21 points

2. % Best of five games to 11 points

3. # Best of three games to 15 points.

4. # Best of five games to 15 points.

Question Number : 185 Question Id : 2752283396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jeftic & T Ha & Hau ¥ Fafafed 5 3 oF a1 98l o

Options :

1. ¢ 21 3P| &b S 3P i TH



2. % 11 3l P 9 3P UrI TH
3. % 15 3Pl P ¥ B o 719
4. % 15 3P| b 9% AP gig TH

Question Number : 186 Question Id : 2752283397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the length of a table tennis table?
Options :

1. # 2.50 metres

2. ¥ 2.74 metres

3. % 2.96 meters

4. % 1.84 meters

Question Number : 186 Question Id : 2752283397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢TI & ¢ad B el [ha Biall 82
Options :

1. % 2,50 HicX

2. ¢ 274 HIcR

3. % 2,96 HIR

4. % 184 HIcR

Question Number : 187 Question Id : 2752283398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A squash match is normally the best of games, but may be the best of games.
Options :

1.¥5;3

2. % 7.5



3. % 31

4. # any number of; 5

Question Number : 187 Question Id : 2752283398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS WHTRT B T SR 31t TRy, Afes ¥ Sifth T B EHhal g |
Options :

1.¥5;3

2. % 7:5

3. % 3;1

4. % fbdd ol 5

Question Number : 188 Question Id : 2752283399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
First generation of computers was
Options :

1. % 1942 — 1955

2. % 19551964

3. % 1948 — 1961

4. % 1952 -1970

Question Number : 188 Question Id : 2752283399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H Y B Ugell SR |
Options :

1. % 1942 — 1955

2. % 19551964

3. % 1948 — 1961



4. % 1952 -1970

Question Number : 189 Question Id : 2752283400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 megabyte = bytes

Options :

1. # 524288

2.9 1048576

3. % 2097152

4. % 262144

Question Number : 189 Question Id : 2752283400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| HTETEE = EIEER]

Options :

1. * 524288

2. ¥ 1048576

3. % 2097152

4. % 262144

Question Number : 190 Question Id : 2752283401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a shortcut to copy selected text in MS Word?
Options :

1. % Cul +K

2.¥ Ctrl + C

3. # Shift + K

4. % Shift+C



Question Number : 190 Question Id : 2752283401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.UY. 9 §, TUHd TRe Dl HIUl H- & forg FaferiRad & 3§ &9 a1 2iidee 82
Options :

1. % Cul + K

2.¥ Ctrl + C

3. #* Shift+ K

4. % Shift + C

Question Number : 191 Question Id : 2752283402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following short cut is used to apply filters in MS Excel sheet?
Options :

1. ® Ctrl + F

2. % Cul+L

3. % Ctrl + Shift+ F

4. % Ctrl + Shift + L

Question Number : 191 Question Id : 2752283402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.0Y. TR e | ftheex e & forg Fafafea ® 9 forw =TS e &1 Syt e S g2
Options :

1. % Cul+F

2. % Ctrl+L

3. % Ctrl + Shift + F

4. % Ctrl + Shift + L

Question Number : 192 Question Id : 2752283403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following are found under the Insert tab of MS Powerpoint?

L. Shapes
II. Table
III. Charts

Options :

1. #® Tand II

2. % Il and IIT
3. % Tand III

4, 1,11 and 11T

Question Number : 192 Question Id : 2752283403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH.UY. UfdRUTgc & 3-9¢ od & 3fdvid (MaferRad # ¥ o9 I Ul §id 82

1. 09
1. e§d
1L Iy

Options :

1. % IdUTII

2. % I dYrI
3. % 1dYUTII
4. 1 11 dYTIII

Question Number : 193 Question Id : 2752283404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an input device?

I. Keyboard
II. Mouse

Options :



1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 193 Question Id : 2752283404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeafed & @ & 91 39y fearza 82

RG]
I1. {139
Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 194 Question Id : 2752283405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In all AIBA open boxing Elite and Youth Men’s and Women’s Competitions, the Bouts must consists rounds of minutes each.
Options :

1. % 3:5

2.¥3;3

3. % 5;3

4. % 5.5

Question Number : 194 Question Id : 2752283405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt AIBA 37U SR Taile 3R gy Joy 3R Afgar ufaaifiarsii #, gereal @se) J ude e % A3 gH T



Options :
1. % 3:5
2.9 3:3
3.% 5:3
4. % 5;5

Question Number : 195 Question Id : 2752283406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a karate match YUKO means points.
Options :

1.9 1

2.% 2

3.% 3

4. % 4

Question Number : 195 Question Id : 2752283406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRIC T T P! T AT 3% BT R
Options :

1.9 1

2. %2

3.% 3

4. % 4

Question Number : 196 Question Id : 2752283407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In kabaddi, in each team players will take the ground at a time.
Options :

1. %5



2.% 6
3.7
4. % 8

Question Number : 196 Question Id : 2752283407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hag H, U A A TSt U IR & fgH & I
Options :

1. %5

2.% 6

3.¢¥7

4, % 8

Question Number : 197 Question Id : 2752283408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are a fundamental skill(s) of Lezim?

I. Char Thoke
II. Aath Thoke

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 197 Question Id : 2752283408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 4 &9 91/ AR S/ Hiftie oI 8/8?



1. IR Bl
11. 31T 3l

Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 198 Question Id : 2752283409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players play a basketball match in one team?
Options :

1.¥5

2.% 6

3.% 7

4. % 8

Question Number : 198 Question Id : 2752283409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s A9 | fha- fadre sdesrd 79 Tdd 82
Options :

1.¥5

2.% 6

3.% 7

4. % 8

Question Number : 199 Question Id : 2752283410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct about the duration of a netball match?



Options :

1. # 2 halves of 20 minutes each
2. ¥ 4 quarters of 15 minutes each
3. % 4 quarters of 10 minutes each

4. % 2 halves of 30 minutes each

Question Number : 199 Question Id : 2752283410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & SH-91 Uh Al 09 &1 3fafy & dau § Igl 7
Options :

1. % U 20 e & 2 §IH

2. ¢ UAH 15 e & 4 BIER

3. % U 10 fBFC & 4 IR

4. % JAP 30 AT & 2 BB

Question Number : 200 Question Id : 2752283411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a shortcut to open an existing file in MS Word?
Options :

1. % Ctrl + E

2.9 Cul +O

3. % Shift+ O

4. % Shift+ E

Question Number : 200 Question Id : 2752283411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH.TY. 98 ¥, Hivje] Biad & \ia- & fore FyfaRad # 9 & a1 Aicdhe g2

Options :




1. ® Ctrl +E
2.¥ Ctrl+ 0
3. ® Shift+ 0O
4. ® Shift+ E



